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commandwindow
clear

clc

clo=e all
Syms T

format =hort
¥ = (50/0.05)+((50/1.0025)*=in(c)}+({((50%(D.05})/1.0025)*co=(c})-(B02.49%exp (-0.05%c))
ym = 1000-(BD0*%exp (-0.05*%C})

tdd=1:2:500

tn=0:2:500

yn=suba (v, tdd}

yon=subs (ym, tn}

totT = 0:1:500

timeT = totT!

mniontfv=union (¥yn, ymn}

valussT = unionDfV*

combined=double (valuesT}

plot (tdd, yn, tn, yon}

col header = ('t (min}', *'V(Litre}'}

lswrite {'odevbe=sdata.xlsx',col_header, '"veriler', 'Al'}
Elswrite ('odevbesdata.xlsx',timeT, 'veriler', 'R2"')
Xlswrite {'odevbesdata.xlsx',conbined, "veriler ', "B2"')
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Equa =

"Dim 4+ 0.025*m — 50* (1+s=in(t})"’

anaz =

2000 - (2000*1601~(1/2)*co=(t + atan(l/40))) /1601 - (28B81850*exp(-t/40)) /1601
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commandwindow

clc

clear

clo=e 211

ayms t©

Equa = "Dm + 0.025*m =— L50*(1+3in(c) )’
anss = dsolve(Egua, 'm(0)})=150")

time=0:0.5:450

yval = subs(anss,time)
precoy(anss)

ploc(time, yVal)

grid on

grid minox

xlabel('T (min) ')
viabel [ 'quantity of =salt')
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guantity of salt
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